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Four choices A, B, C, D to each question are given. Which choice is correct, fill that circle in front of that question number on the
Objective Bubble Sheet. Use marker or pen to fili the circles. Cutting or filling two or more circles will result in zero mark in that question.

Least Count of Digital Vernier Calipers is :

PO (O SPRTL LU TVPPNL TP 1A

(A) Force s (B) NetForce ey  (C) Couple J{ (D) Momentum [““f ¥

(4 0lmm (B 0.0lmm (O 0.00lmm (D) 1mm el
SI Unit of Weight is : " D tySIKu| (2)
(A) Joule Jz  (B) Meter <  (C) Kilogram rl/ ¥ (D) Newton (/¢

Product of Mass and Acceleration is : .‘ s 4...,/'%)’ b(y"‘:‘)’fmlu’t ®
(A) Inertia A2/1  (B) Torque J#  (C) Forcesd (D) Momentum {‘b‘{ »

Which quantity is a Scalar Quantity el K| @
(A) Time 35 (B) Force o8 (C) Torque St (D) Velocity (s

The Steering of a Car is example of : PRy N I R C))

Which one of the following converts Light Energy into Electrical Energy :

i e QS U LGN o AP eSS psir| )

(A) Electric Bulb wbf 28 (B) Photo Cell k54 -

(C) Electric Generator £ 2./ (D) Electric Cell /261

The energy of a moving body during motion is called : : ‘4(311;'( A, f) FomleSr| @
(A) Kinetic Energy d./'l....@’(j( " (B) NuclearEnergy (./14¢

(C) Chemical Energy (.2I6€ (D) Potential Energy &/’l&é"f‘{

(a)

The Formula to find the Orbital Speed (Vo) of a Low Orbit Satellite is :

P e U8 (Vo lwdeswe lni S hS L jdmd ;) @

Vo=gR (B) Vo= ng (C) V°= '\/g RZ (D) V°= ‘\/g R

In which of the following State Molecules do not leave their position :
(A) Solid #  (B) Liquid & (O) Gasw? (D) Plasma Lt

P LIRS P Bt S | @

A 9% ® 7% (©@ 100°c (D) 90°C

Which Bird is Thermal Climber : D e AWS Figd] (10)
(A) Sparrow L7 (B) Eagle b

(C) Pigeon 7« (D) Crow 1§

Which of the following affects Evaporation : : ‘48;1}!1!}!40.&9. SR 50” /e c:_uful. a1
(A) Temperature w=ul” 5. (B) Surface Area of the Liquid L/J%'s A

(C) Wind ! (D) Allofthe above (Uil

Boiling Point of Water s : D eediy Figly A2

¢ C—

IERUCL e S tan
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Note : It is compulsory to attempt (5 -- 5) parts each from Q.No.2 , Q.No.3 and Q.No.4 and Attempt any (02) questions from \*
Part Il. Write same Question No. and its Part No, as given in the Question Paper.
30 = 2x15 | Make diagram where necessary. ..Jl'/.fgﬁndu/"’u% (Part - I) Jalaa>
Why do we need to measure extremely small Intervals of Time? ?‘E—JZU&( ) /d/ zrb( Uy J«f’; JL?’I Lt (1) 2 / Jly
Define Prefixes and give an example. e Pr sy I PPIRN (1)}
Define Plasma Physics and Geo Physics. _é...e,'/:"g,(u// 2l J// i (i)
Differentiate between Sliding Friction and Rolling Friction. SOV b o, ALz (iv)
How much Force you need to prevent a Bag from Falling? e 0 Jh JK A 774"_ LL%GLI S Ll (V)
Write two advantages of Friction which you observed. Wl T 67 @ i0d s Fof3 {vi)
Differentiate between Natural Satellite and Artificial Satellite. I AT IV Ci P RO g 4.4 (vii)
State Law of Gravitation. ~BE b ¢ Sz (viii)
Define Uniform Speed. ' S ey (1) 34y
Differentiate between Distance and Displacement. -zgf J/'J..L/fs& R ()]
Convert 200 km h™! into ms™. A 919 4 ms /200 km h™ (iii)
Define Pressure and write its S+I. Unit. _alaiy 8.1 Kutsl 2{..5//7&}/? (iv)
Differentiate between Ships and Submarines. ?g.J) Y usinal s usigdz (V)

sud et 2 4Suiad At e vt B ¥ A (i)

Why does a Piece of Stone sink in water but a ship with a huge weight floats?

Define Convection. -Zf—f-’_-y j‘7 g uﬁ‘{ & (vii)
What is Global Warming? ?:"_Jny/ Lty S {viii)
What is Couple? T “c‘;,&fd’{-( (i) a4/
Define Center of Gravity. _d"/.._y/"l}/ Cf,;‘,f..JTf‘" (ii)
Differentiate between Stable Equilibrium and Neutral Equilibrium. -ui"“/ Spt ARSI o 2ief (i)
Define Power and write its Unit. -U:J Lk my S g sy (iv)
Derive the Equation of Potential Energy. -« . i&lwblxkf S Jb_{ 1 (v)
Define “Joule” as Unit of Work. ..u-‘-’d 38Uz (vi)
Define Latent Heat of Fusion. s’ A iz Gk (vii)
Define “Evaporation.” -U:J S Fopy (viii)
18 = 2x9 (Part - ID)  pgoda>

(4) WL e Yot E sl SIS Lo S ek Ul ¥ Linl SJeies Lo ¥ () 57y |

Derive the Equation for Mass of Earth from Newton’s Law of Gravitation and hence calculate the value of Mass of g

Earth.
(5) u.:’&lfu.t/»é://._fu:ld}d,?JngffJJ(}uy/;LJ)(};le:_ B IESILAASES ()

0.6 T
How much is the Force of Friction between a Wooden block of mass SK@ and the Horizontal Marble Floor?

The Coefficient of Friction between Wood and Marble is 0.6.

(4) Provethat : Upthrustofliquid = p § V sASdaldi=paV: SySet (W) |6 Ay
(5) 4in/100s e S Loy 2 K iy 1008 AL FEM sy a3/t e chefein Il (<)
t$n e/
A Train starts from Rest. It moves through 1K in 1008 with Uniform Acceleration. What will be its speed
at the end of 1008 ?
(4) . -é&b;JLﬁd/uJﬁ/d:ﬁ 9] é‘fby;d/f:/d;gl (1) 7 Ay
Define Equilibrium and explain Second Condition for Equilibrium.
(5) gl uis 20 ms?t LS is 12KNG (9) :

A Carweighing 12 KN has speed of 20 S, Find its Kinetic Energy.
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Note : Folr choices A, B, C, D to each question are given. Which choice is correct, fill that circle in front of that question number on the
Objective Bubble Sheet. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that question.

Which of the following is the Unit of Momentum : 3 ‘atJf o711 (‘”{ P Sdits
(A) Nm B Kgms? (@ Ns (D Ns?

141y
&)

: %VHWBLL/":W/*.::’: f.‘,'o:‘éui z r).f/vuf
By dividing Displacement of a Moving Body with Time, we obtain :
(A) Speed 4r (B) Acceleration u‘*)"-(! (C) Velocity ("#» (D) Displacement .L‘{’:gu‘f

@

Amount ofa Substance in Terms of Numbers is measuredin : Pedy ¥/, (:"’ HNa J PN Z.Jr
(A) Gram (lf B) Kilogram (1/ )K (C) Newton cf’}f (D) Mole J#

&)

Coefficient of Friction s : : et putetdl/

() ﬂ=% ® p=r  © u=§ o p=5

C))

w
t S Ut e 2516 B S LK 2
The Kinetic Energy of abody of Mass 2 kg is 25 J, its speed is :
@) sms™t B 125ms™ (©  25ms™ (D) ~50ms™

C))

i K b’()'»..gl[, 100kg 4 #e-c 146 ms™2 -.:u,:fur g 45&0’&
The value of ‘g’ on Moon Surface is 1.6 ms™2. What will be the Weight of a 100 kg body on the Surface of
Moon :

(A) 100N (B) 160N () ~1000N (D) 1600N

()}

The number of Perpendicular Components of a Force is & : 4".8:1' i J u’t’:)! Sasf ' /'..{3 Lf
@ 1 ® 2 © 3 O™ 4

€]

The Energy Stored in Dam s : : ‘gén R4 :ufdg Py
(A) Electrical Energy d’.}uﬂ }Ql (B) Potential Energy EaJ* ¢
() Kinetic Energy (5./1-6 dy (D) Nuclear Energy ./ Yol

@®

: %Jb b//r‘.;ajliugjc.,u.ﬁf_:’ Lot X Uy
Which of the following Material has Large Specific Heat :
(A) Copper 4§ (B) Ice Lz (C) Mercury $/r (D) Water dk

€ ))

Normal Human Body Temperature is : P e /,f-ﬁ K()‘ dur ok
@ 15°% ® 713% ©@ 337°°F ® 37°%

10

O )
SI Unit of Pressure is Pascal , which is equal to : : q_lrn/.’/.cf’ Lot S Lt ¥ 240 gﬂ Kl ("/
(a) 10°Nm2 ® 10Nm? (© 1Nm?2 @  10® Nm™

an

False Ceiling is done to : | e bl s A f g
(A) Lower the height of the Ceiling 6./ ﬁ, Jk{':l J e (B) Keep the roof clean il g
(C) Cool the room b/ 14 e f (D) Insulate the Ceiling ./ 2ds f et

12
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Note : it is compulsory to attempt {5 -- 5) parts each from Q.No.2 , Q.No.3 and Q.No.4 and Attempt any (02) questions from

part I, Write same Question No. and its Part No. as given in the Question Paper.

30 = 2x15 | Make diagram where necessary. -&.ff nd F ot Yal® 4 Part-D Jilea>

Why do we Study Physics? szl SU5A (B 240

Describe Zero Error and Zero Correction. kS SE sy s (i)

Define Significant Figure and write its one example. -uf’i Je gty e e (iii)

Differentiate between Mass and Weight. DS sl gL (iv)

Define Momentim and write its SI Unit. el oy ST ol s/ e (“’5’ y (V)
et P DLl tg 5SS U 20N 7 AL (/£ 8 (vi)

Find the Acceleration that is produced by a 20N Force ina Mass of 8 kg.

What is a Field Force? ?g..&x Yo (vii)

What is meant by “GPS”? » Sl o "GPS” (viii)

Convert 20ms L into Kmh™. _édj{’w Kmh™/ 20ms™ (i) 3/ Ui

4)
(5)

4

Write Second and Third Equation of Motion.

Define Young's Modulus and write its 81 Unit.
What is meant by Up Thrust? St pf e S (vi)
Write two uses of Insulators in our Daily Life.

What Causes a Glider to remain in Air?

' eSS Sy (i)
e S el § P r S d AV RS U (i)

How do Riders in a Ferris Wheel possess Translatory Motion but not Rotatory Motion?
Does there exist a Fourth State of Matter? What is that? feuis Ufm I A ?q_thJ&;}w" 2 St (iv)

sy STo N S Sr £ (V)

.ﬂdb&l pys J/‘.i'ﬁlufd’}) o0 (Vi)
‘"‘g..t:(u./b/q._/uf nd J},.(’lf {viii)

Why we use a Spanner? sl Ul e Kﬂ.((? ()
State the two Conditions of Equilibrium. , LEEs f wdf /d;gl (id)
Define Head to Tail Rule. ZE/ S F 5 L (i)
g ldx utd.}u?:( SIS 2 L (2T A (iv)
Write the name of four such Devices that convert Electrical Energy into Mechanical Energy.
Why do we need Energy? ?g(jyzu;.{/ =i /2 J AL (v)
e KESuelbgt Spiegnd 15ms™ L ALL 5009 (vi)

A 500 g Stone is thrown up with a Velocity of 15ms™ Findits K.E.

How does Heating Affect on the Motion of Gas Molecules? S bn IS K iz 4 r§ 7 L[.Jf 4 (vii)

Define Cubical or Volume Expansion and also write its Equation. TN v SomeEw/ g Ly (viii)

18 = 2x9 (Part - II) podda>

(4) Calculate Mass of the Earth by using Law of Gravitation. -ﬁr}“ SV Ritnl S Jb"lu:’t?(u%b S0 (A

(5) ?Jn&uﬁd/u’/}d{é&'g.bl_.i)gfyl bg:‘..wa’)")’.-(l L2 ms™2 fJi-+20 N s K()'.{l ()
A body has weight 20 N. How much Force is required to move it Vertically upward with an Acceleration of
2ms??

{(4) ..",Z.:ﬁl V= Vi + at ohle JJ]GMJJU’JI 2! ’Q.C:Jlffft‘—,é{é— L“)Lnf_/-zr(fc'_— ﬁ)’o{! Ay (am
Draw Speed-Time Graph for a body moving with Uniform Acceleration and from this Graph Derive the
Equation of Motion Vg = Vj + at.

(5) -'ér}”/‘:/,uuia,w}d' 20N JI;Z_/LF/,J!{.IO mm i;’l/g.{l&f?f.b’&/ l/éﬂ&b’%bg! (<)
The Head of a Pin is a Square of Side 10 MM, Find the Pressure on it dueto a Force of 20 N.

Define Kinetic Energy and Prove that : K.E.= % m > i 2;_‘:.;&" it Z’:ug! j"" J S/ .«QJK (3

LSS L gt € 30° A LA =xuSS 50N ()
Find the Perpendicular Components of a Force of 50 N making an Angle of 30° with x — AXis.

a4, )i

5/ Uiy

6 /Uiy

7/:2dir
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